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the correct

l. Match List-I with List-11 and select

given below.
List-1I

(States) (Highest Peaks)
A. Tamil Nadu 1. Dhoopgarh

B. Rajasthan 2. Saramati
C. Nagaland 3. Guru Shikhar
4

D. Madhya Pradesh . Doda Betta
Cod

answer using the code
List-I

(@)
(b)
Ac)

e:
A
3
1
4
d 2

- W N W

C
1
4
2
3

A= W NU

‘Leopold Matrix’ is associated with

(a) Weather Forecasting

(b) Disaster Management

(c) Environmental Impact Assessment
Method

(d) Environmental Law

The Joint Sitting of the Indian Parliament for
transacting a legislative business is presided
over by

(a) The President of India

(b) The senior most Member of Parliament

(c) The Chairman of the Rajya Sabha
__igrThe Speaker of the Lok Sabha

4. The term ‘Office of Profit’ has been defined

Constitution

(b) Parliament
(c) Supreme Court
(d) Union Council of Ministers

5. While deciding any question relating to the
disqualification of a Member of Parliament
the President shall obtain the opinion of ’
(a) Election Commission
(b) Chief Justice of India
(c) Attorney General

nypeaker of the Lok Sabha
A
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A. afteTg . qug
B. TS . grOHdt

C. ArTrets . T Rt
D. &1 WeW . SeT A
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1
2
3
4
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(b)
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(d)

A~ wo Y

A
3
1
4
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(a) HreH qEiFHH
(b) 3T LA
(c) Tatawo sftrmg <6t srmeer fafwr
(d) wrafeRr BT

furft 9 0 & fg WRa % F@E F G
afrdem 1 JregEar 1 8

(a) WG % TgAfT

(b) g & ANSITH HGH

(c) TT@T 3 BT

(d) SHEAT h eI

v 1 T vee wiefya e T R

(a) Gfau™ g

(b) &G T

(C)qaﬁﬁmm

(d) gefa JEaReg g

sige wee 6 Pkl & wefta s = fafia =@
e gty Preferfaa 3 & fradht wa e w7
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6. Soyabean seed containg

(a) 20% protein and 40% oj]
(b) 40% protein ang 10% oil
(c) 40% protein ang 20% oil
(d) 20% protein and 20% oil

7. As per the results of ‘Swachh Sarveksh
, sha
2020’, announced by Ministry of Housing an:;
Urban Aﬁm on 20 August 2020, which is the
Cleanest City in Uttar Pradesh ?

(a) Agra (b) Gaziabad

(c) Lucknow ._Ad) Prayagraj

8. How many teachers from Uttar Pradesh were
selected for ‘National Award’ on Teachers day
5t Sept., 2020 ?

(a) Six
_le) Four

(b) Five
(d) Three

9. “Poshan Maah’was celebrated by Government
of India in the year 2020, in which of the
following months ?

(a) September

(b) August

(c) July

(d) June

10. Match List-I with List-II and choose the
correct answer using the code given below.

List-I List-1I
(Text) (Writer)
A. Kiratarjuniyam 13 Dax'm(;il
B. Dashakumar 2. Kalidas
Charitam .
i 3. Bharavi
Charitam
c. Buddne 4. Ashvaghosha

D. Vikramorvashiyam

Code :
ABCD
@ s 4 1 2
® 3 1 4 2
@2 3 1 *
@1 3 2 *

3=

10.
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g F A § ar e 2
(a) 20% 91 W@ 40%
(b) 40% 9IEH & 10% 3=
(c) 40% WA W& 20% A=
(d) 20% WA w@ 20% &

20 3T 2020 I HEEH U TR G F e
TN Ot « w@=s waw 20200 % 9Romt % Ew
IR e H FH-T T G = f 7

(b) mfsaTETRE

(d) TS

(a) AT

(c) @IS

05 faaw, 2020 1 frers fgg w T gEEw
ST 3 fore e e ot foves i g 7
(a) ®: (b) wi=
(c) ¥R (d) =

YR SR g 9§ 2020 F 9oy A1, frefafaa
¥ § forg wdiA # wamn ma 7

(a) Fara
(b) 3T
(c) ST
(d) 53
-1 ) g1 & gt it ol geh A9 fn
Qg 1 RN FH T I H S B |
-1 .
A. Ferargay 1. =8
C. g =iy 3. W
D. faprridsiay 4. I
e
A B CD
b) 3 1 4 2
) 2 3 1 4
d 1 3 2 4
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13.

A large tank near Mahoba, temples at
Ajaygarh and Mahoba and city of Rajavasini
were built by a Chandella King

(a) Nannuk (b) Vakpati
(c) Rahil (d) Jayashakti
Which of the following Rights a cultivator
enjoyed on his own land during the Mughal
period ?
(a) Right to mortgage only
(b) Right to sell and gift
(c) Right to mortgage and gift
(d) All the above rights
Match List-I with List-1I and select the correct
answer using the code given below.
List-I List-II
(Tribes) (States)
A. Tharus 1. Madhya Pradesh
B. Todas 2. Jharkhand
C. Santhal 3. Uttarakhand
D. Gond 4. Tamil Nadu
Code :
A B C D
@ 1 3 4 2
b)) 4 2 1 3
) 2 1 3 4
/m)' 3 4 2 1

14. Match List-I with List-II and select the correct

answer using the code given below.

List-1 List-II
A. Nokrek 1. Uttarakhand
B. Agasthyamalai 2. Arunachal
Pradesh
C. Nandadevi 3. Kerala
D. Dehang Debang 4. Meghalaya
Code :
A B C D
g 4 3 1 2
b)) 4 3 2 1
© 3 4 1 2
d 2 3 4 1
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LEI]
(b) aTFfd

(a) 7%
() TR (d) SEfad

Wmﬁﬁnﬁmﬁéﬁ—mmw
1 7o feft sgftr ox g e 7

(a) Faet it & & @A H

(b) Yy =1 forsha W& g <A
(c)\@?ﬁmt@ﬁamaw

(d) SuE aft iR
gefl-1 61 gehi-11 & gafera v qor 2 few e
F¢ HT FAT Fh HE IW AT |
-1 -1
(arieaeht /) (@)
A. UTE 1. 99 9N
B. Ziel 2. 9GS
C. 5y 3. IWES
D. g 4. afterTg
e :
A B C D
@ 1 3 4 2
b) 4 2 1 3
© 2 1 3 4
d 3 4 2 1
g1 eI @ gifera it 7en A= fag o
e H TN Fh Tal A Bl T HIT |
1 ﬁ-ll
A AHE 1. SWEs
B. TTRIAATS 2. IS TeH
C. e 3. W& |
D. @M & 4. AU |
e :
A B CD
@ 4 3 1 2
b) 4 3 2 1
0 3 4 1 2
d 2 3 4 1
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16.

17,

States get share of the revenue from

(a) Income Tax
(b) Customs Revenue
(e) Excise Tax

(d) Surcharge on Income Tax

Which Article of the Indian Constitution
empowers Parliament to make law for
implementing international agreements ?

(a) Article 249 (b) Article 250
(c) Article 252 (d) Article 253

Who appoints the acting Chief Justice of
India ?

(a) Chief Justice of India
~Chief Justice of India with previous
consent of the President

(c) President of India

(d) President in consultation with the Chief
Justice of India

18. Which of the following is NOT a Kharif crop ?

19.

20.

A

(a) Soyabean
(b) Lentil

(c) Cotton

(d) Pigeon pea

The rotation intensity of Maize-Mustard-
Mung crop is
(a) 100%
(c) 300%

\Ab) 200%
(d) 400%

‘Rive Star Village Scheme’ started by
Government of India in September 2020
relates to which one of the following ?

/(a«)’Electricity Supply

(b) Postal Service Schemes
(c) Health Services

(d) Primary Education

15.

16.

17

18.

19.

20.
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Tt =t T 1 Wi fiyemar 2
(a) 3Fa B
(b) HwT-3oh Toea @
(c) S F
(d) 3R AR &
WdE Giaam F1 F19-w1 sgesy que @)
FAW GG B A FA F forg Ry fgor
i wifed WeH +aT & ?
(a) 3TT=AT 249 (b) 3BT 250
(c) I T=RE 252 (d) 38 253
WRA % FaTed TE TR fi Ryl e
AR ?

(a) WRE % q&T =T
(b) Trsgafa it qd =iela & Wi F1 g&
11N

(c) WRE < gt
(d) ¥Ra % q&a iy % wEy ¥ Uiy

e dd s @ el saa @ 2 7
(a) WrETE

(b) FEY
(c) U E

(d) 3R
TFHI- T -7 $H I GEA 9% THAGT R

(a) 100%
(c) 300%

(b) 200%

(d) 400%

WG TR g1 Rraar 2020 3 y& 6 T “wra =R
e A Prefelea § & fred gafm R ¢

(@) formga Imgfd

(b) T HaT w1

(c) TaTER e

(d) srafiven e
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Who won the US Open 2020, Mens Tennis
Singles Title on 14th September, 2020 ?

(a) Alex Zverey

(b) Dominic Thiem
~ (¢) D. Medvedev

(d) P. C. Busta

22. Which of the following pairs is NOT correctly

matched ?
Ancient name
of the Cities
(a) Esipattan -

Modern name
of the Cities

Saranath
(b) Dashapur - Mandsor
(c) Banvasi - Talkad
(d) Mahoday - Kannauj

23. The early farming site located on the bank

of lake is

(a) Mehargarh
(b) Lahuradeva
(c) Chirand

(d) T. Narsipur

24. Author of the ‘Dastane Mazahib’ which

discusses about the Din-i-llahi of Akbar, was
(a) Mohammad Rabbani
(b) Mohsin Faani
._ley Badauni
(d) Afif

25. Who was appointed the Minister of

‘Ministry of Rehabilitation’ set up on
06 September, 1947 ?
(@) S. P. Mukerji

\/(h)’Sardar Vallabhabhai Patel

(c) J. L. Nehru
(d) K. C. Niyogi

21.

22.

23.

24,

25.
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14 Ryawer, 2020 # fFeR 7.@@. 3w 2020 #
%Y Tahe < Raam sfiar ¢

(a) ToiFE

(b) ST Ry

(c) . Feass

(d) . . s

Fferfiaa 7t # & PA-w1 o odt gt AE 2 7
TR & WA ™ TR & Imgfen A
(a) 3R - |

(b) TAE - HeE

(c) et . TETHIS

(d) e - St

$ite % Tt it iy aren woe 2

(a) HETE

(b) TETET

(c) Ferere

(d) &. i

TRAM TR, W SR F G -u-gee 6 ==
HT 2, T @S o1

(a) gEmTe Tt
(b) WERA =

(c) W
(d) IFH

06 faarar, 1947 % wf fry M EtE
e 1w TR s e

(a) TH. f. g@sf

(b) TR FewTE qeet

(c) 3. TH. TE®

(d) . = Favfh
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26. An irrigation channel designed by Lacey’s
theory has a mean velocity of 1.5 m /s. The
silt factor is unity. The hydraulic mean
radius will be
(a) 2.5m (b) 1.5m

AP 5625 m. (d) 6.525 m

27. At a hydraulic jump, the depths at the two
sides are 0.4 m and 1.4 m, the head loss in

the jump is
_ef 1.0m (b) 0.9 m
(c) 0.7 m (d) 0.45m

28. The contact pressure P, tyre pressure P and
rigidity factor R are related by

P p
S o e
(a) P (b) P R

(¢ PxP,=R (d) R=PxP)

29. If modulus of elasticity of the subgrade is
25 MPa, then deflection at the surface of
flexible pavement due to a wheel load of

40 kN and a tyre pressure of 0.6 MPa will be
(a) 5.24 mm (b) 6.20 mm
(c) 7.40 mm (d) 8.32 mm
30. The design speed of a traffic lane is | 30.
70 Kmph. What is the theoretiqal capacity
per hour taking the total reaction time to
be 2 seconds and average length of vehicle
BmEay
(a) 828 (b) 728
(c) 628 (d) 528
31. Calculate the stopping sight distan(:e,.glt\"zl1 31.
that velocity v = 100 Kmph and fricti
f=0.10.
e 464 m (b) 563 m
(c) 860 m (d) 840 m
. 1ered for the 32.
32. The following items ar€ cqns::tef s {8
selection of site for an airport
incorrect option.
M Class of ajrpqﬁ _
(b) Visibility at airport sité
(c) Altitude . )
(d) Runway orientation 1 D % iy

I~

A cag o T UV L

26.

27

28.

29.
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ot % g & 1gEm i w e 1w
3ftwa nfad (velocity) 1.5 m/s 2, fiee pics
;:1 2 | TH ETERH (hydraulic) 3hga =

(@) 2.5 m (b) 1.5 m

(c) 5.625 m (d) 6.525 m

T TR 99 H g1 HI5S W TR 0.4 m 3K
1.4 m# | 99 § 82 & IHEH &M

(a) 1.0 m (b) 0.9 m

(c) 0.7 m (d) 0.45m

HU% o1 P, T TG P GUT QAT (rigidity)
i R 6 & wafia 2 2

P P,
— =R i
(@) P (b) P R

(c) Px P, =R (d) R=.(PxP,)

Ife 3T 1 I 71U 25 MPa &, @ weic
FieH % T8 W 40 kN & Tfed1 WR 741 0.6 MPa

¥ T <@ & e fagor g
(a) 5.24 mm (b) 6.20 mm
(c) 7.40 mm (d) 8.32 mm

U A SR I aieesd 9 70 Kmph 2 |
vt iR v 2 s au I i sl T
8 viex o g, e o Agifer & FE 7

(a) 828 (b) 728
(c) 628 (d) 528
FEEE s Tl qf@ @ (stopping sight
distance) i oM F @ 3 v = 100 Kmph

3R udor f=0.10% |
(a) 464 m (b) 563 m

(c) 860 m (d) 840 m

mﬁm%m%mmﬁaﬁwﬁm
forame e T & | e fed fafRa Wt
(a)ganﬁa?@ima'f

(b) EaT$ 3 < ¥ T
(c) =18

(d) @9 i

58

<N



33. The order in which a road is built as from
bottom to top
(a) subsoil, base, subgrade, subbase
(b) base, subsoil, subgrade, subbas'e
(c) subbase, base, subgrade, subsoil
} /(d-)"éubsoil, subgrade, subbase, base

34. A vehicle moving at 50 Km/h speed was
Stopped by applying brakes and the length f)f
the skid marks was 18 m. If the average skid
resistance of the pavement is 0.75, the brake
efficiency (in %) of the test vehicle will be
(a) 71.12% (b) 72.83%

(c) 73.48% (d) 74.62%

35. For a sleeper density of (n + 5) the number

of sleepers required for constructing a Broad

Gauge (B.G.) railway track of length 650 m
is given by

(a) 1000 A6} 900

(c) 800 (d) 700

36. The type of the camber which is best suited

for cement concrete pavement is
__A@) Straight line
~ (b) Parabolic

(c) Elliptical

(d) Composite

37. Which one is NOT g road pattern ?
(a) Block pattern
(b) Star and block pattern
(c) Hexagonal pattern
. de" Diamond pattern

38. If the methyl orange alkalinity of water
equals or exceeds total hardness, g1 of the
hardness is

A Non-carbonate hardness
(b) Carbonate hardnessg
(c) Pseudo hardness

(d) Negative non-carbonate hardness

39. When waste wateris disposed ofinto 5 Mnnin
stream, four zones are formeq. 1, which o
of the following zones, will the e M : ne
of dissolved oxygen be foung » e
(a) Zone of degradation
(b) Zone of active deco

Zone of recovery -
(d) Zone of clear water

Mpositiop.

A
8-

33.

34,

3S.

36.

37.

38.

39.
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ﬁ%%mﬁmmﬁqﬁ#@amﬁmmt
(a) 3uma, YR, 39Hfe, Iqammur
(b) 3R, 39T, J9=ifz, TqamaT
() I9STUR, 9w, IyRf, I
(d) 395y, sw=hife, 3smem, smem

(@) 71.12% (b) 72.83%

(c) 73.48% (d) 74.62%
(n+sywﬁmma%fiwq550mmmﬁa
(B.G.)iaazmaqﬁ%ﬁmmﬁmévﬁ
(a) 1000 (b) 900

(c) 800 (d) 700

A H5HE FzA 35 o el 39 R (camber)
1 YR B

(a) €t t@n

(b) HAIFTTHR (Parabolic)
(c) QEFATFR (Elliptical)
(d) Tt

Fadash-fass o i o

(a) ST Tgfd

(b) ®R 3 =% gy

(d) e ugfa

et 1 RIS (methy) A e et i
F TR 2 A1 3 2, 79 i o A

(b) FTERE Haral

(c)ﬁmﬂ?ﬁ'o;l(?"

B — Y ﬁﬂﬁmé‘:’ﬂﬂﬁ’s’,‘l
ST o1 TR FH U A ?

(o) o 1 &

(b)mﬁmmﬁi

(c) TR 1 &

(] e

F ot I
(/‘



40. Hairs of human nose can remove all the
particles of size greater than

(a) 1 micron +{b) 10 micron
(c) 100 micron (d) None of these

41. Match List - [ with List - II and select the
correct answer using the codes given below
the lists :

List - I
(Treatment Unit)
A. Grit chamber
B. Primary sedimentation
C. Activated sludge
D. Sludge digestion

List - II
(Detention Time)
1. Six hours
2. Two minutes
3. Two hours
4. Twenty days

Codes :

A B C D
(a) 3 1 4 2
(b) 2 3 1 4
(c) 2 1 3 4
(d) 1 2 3 4

42. The best system for distribution of water in
a randomly planned city is
_l&g) Dead end system (b) Grid iron system

(c) Ring system (d) Radial system

43. Which one of the following type of transition
curves is mostly used in Indian Railways ?
~—44) Cubic parabola
mniscate
(c) Cubic spiral
(d) Eular’s spiral

44. The Govt. of India, appointed the National
Transport Policy Committee in the year

(a) 1978 (b) 1973
NeT1956 (d) 1943
45. Flexible pavement distribute the wheel
load

(a) Directly to subgrade

Through a set of layers to the S
(c) Through structural action
(d) None of the above

46. The total correction for
and gradient for a run

ubgrade

: ture
elevation tempera
way, should NOT be

more than "
(a) 35% 25 °/°
(c) 15% (d) 10%

ENGT - 04
40. TIHA & TTE H A A ¥ 98 W F mff il
I E HHA & 7
(a) 1 HTSHA (b) 10 ATERN
(c) 100 TTERIA (d) T ¥ H$ 7
41, g -1 H g - 11 A freme 98 3w Befifan
Hehal 1 TAM Fd gY I
Tl -1 Tt - 11
(STER 3HT3) [ =1 Em)
A. THH FE 1. 69
B. wrufie 9@ 2. 2 fome
C. dfshada 3 3.29%
D. 319 Y= 4. 20 f&q
o :
A B C D
@3 1 4 2
b2 3 1 4
€2 1 3 4
@1 2 3 4

42. SatdE @ 8@ w9 el ° 9o foaw f g s
worret Frerferfea 2
(a) < Ry gomeft (b) TR (Brs 3m) oM
(c) Tar wonedt (d) ¥ vt

43. Trafafga & @ #9-@1 g% 6 (transition
curve) W terd # gegd: yam fo=m s @ ¢
(a) ¥ W& (Cubic parabola)
(b) wfif¥=he (Lemniscate)
(c) ¥ $sell (Cubic spiral)
(d) IR Feeft (Eular’s spiral)
44, HRG WK gA U whEe Hifa afifa w1 med
oo ad o fopan o
(a) 1978 (b) 1973
(c) 1956 (d) 1943
45. e Fem # fen s A Frafa F
(a) Yeg&m: YN (FF-U8) |
(b) T % HYg WA ¥ IHE (F-IE) T
(c) TR HHaATS  ATeA A
(d) 39U J q HIg TE |
46. ¥ fora area i g i a g e G
frferfaa o @ arfees 7@ g1 SET
(@) 35% (b) 25%
(c) 15% (d) 10%



47.

49.

S0.

S1.

52:

Lo

'._«'er '

T . 2
he Population of a town in three consecutive

')'y’rears are 5000, 7000 and 8400, respectively.
he pPopulation of the town in the fourth

consecutive year according to the Geometric

increase method is
(a) 9500
(c) 10100

(b) 9800
(d) 10920

PH = 4 when compared to pH = 7, will be
more acidic by
(a) 3 times

() 1000 times

(b) 300 times
(d) None of these

One litre of sewage when allowed to settle
for 30 minutes gives a sludge volume
of 30 cm?. If the dry weight of this sludge is
3.0 gms, then the sludge volume Index will be
(a) 20 (b) 30

y/lo (d) 40

High COD to BOD ratio of an organic

pollutant represents

(a) High biodegradability of the pollutant

(b) Low biodegradability of the pollutant

(c) Presence of free oxygen for aerobic
decomposition

(d) Presence of toxic material in the
pollutant

Which of the following treatment process are
necessary for the removing suspended solid
from water ?
1. Coagulation
3. Flocculation
Select the correct answer using the codes
given below :
(a) 1 and 2
(c) 2 and 4

2. Sedimentation
4. Disinfection

(B 1,2and 3
(d) 1 and 4

If the coliform bacteria is present in a
sample of water, then the coliform test to
be conducted 1s
i. Presumptive coliform test
ii. Confirmed coliform test
iii. Completed cohform test
The correct answer is
(a) Only (1) (b) Both (i) and (1)
(c) Both (i) and (i) Jﬂh All (i), (1) and (i11)

-10-
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49.

50.

Sl.
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vk WIRE ) FAEEA 14 @man 99 4 5000, 7000
a1 8400 ®HI: 2 | 7 H FHEE Y TIER
ad i surfoedrr 9fg o ® wgan wef

(a) 9500 (b) 9800

() 10100 (d) 10920

T4 pH = 4 & qe41 pH = 7 A 1 713, A U7
foraan sfuw suefra am 7

(a) 3T (b) 300 TAT

(c) 1000 T (d) 399 8 #18 T

s et diaw 30 feaz 4 30 em? w@aT w1 =4
T R | Rk =S F Yo ¥W 3.0 gms 2, A1 =7

AT gAHIH B
(a) 20 (b) 30
(c) 10 (d) 40

firet s wqwe &1 I=9 COD @ BOD 39

frefa & 2

(a) SE¥eh & Iea FAa-Frfiwreral

(b) ¥gu % f= e Frframa #i

(c) A Hwea & forg g e F
Jufeufa =i

(d) Weu & farwres e A I9eUfy H

i # @ FR-d 399n vhew o @ fefa 3w
#1 T & forg I R 7

1. hed 2. XaHrea

3. F0H 4. fawwmm

A3 fou Mo FIE B I T T IV

(a) 132 (b) 1,233

(c) 2 3 4 (d) 1 R4
ufa@qpﬂisat@ﬁﬁmtdif&ﬁmwf&m 2,
aﬁmhﬂmﬁqﬂwfﬁqﬁ?

. yefa wrefre g
i fafewa wiefand w0a
i, ol wreftond w@aet
ud) e B
(a) HEA ()

(©) () aun () gl

(b) (1) @91 (i) zr:ﬁ
() o, (i) awn (i)
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53. The relative stability of a sewage sample

54.

‘ c) 2 and 3 only

5S5.

56.

57.

58.

'

whose D.O. equals the total oxygen required
to satisfy its BOD is
(a) Zero

(c) 100%

(b) 1%
(d) Infinity

Which of the following parameters are
employed in the design of Trickling filter ?

1. Hydraulic loading rate

2. Organic loading rate

3. Detention time

4. Weir loading rate

(@ 1,2, 3and 4 (b) 1 and 2 only

(d) 3 and 4 only

The slope of a 1.0 m diameter concrete sewer
laid at a slope of 1 in 1000 develops a velocity
of 1 m/second, when flowing full. When it is
flowing half full, the velocity of flow through
the sewer will be

(a) 0.5 m/sec _Ab) 1.0 m/sec
(c) \/ﬁm/sec (d) 2.0 m/sec

Self purification of running streams may be
due to
(a) Sedimentation, Oxidation and
Coagulation
ilution, Sedimentation and Oxidation
(c) Dilution, Sedimentation and
Coagulation
(d) Dilution, Oxidation and Coagulation

If the height of a tower is 50 m, flying height
of the aircraft above the base is 5000 m and
the image of the top of the tower is 20 cm,
from the principal point, what will be the
height displacement ?

(b) 1 cm

(d) 0.2 m

The perpendicular offset from a tangent to
the junction of transition curve and circular
curve is equal to

53.

54.

55.

56.

57.

58.
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Hidw o A i e o afer st
3H BOD & HIR HW & fer. st e
JiFdisH & Tuat gl

(a) IH (b) 1%

(c) 100% (d) raar

fr=fafga 3 @ FR-w1 wgEl fogam free
(Trickling filter) % 9RASHT (Design) & frfm & 7
1. gd1a WRY G (Hydraulic loading rate)

2. e WU @ (Organic loading rate)

3. 3E0YH THY (Detention time)

4, T yro gt (Weir loading rate)

(@) 1,2, 334 (b) *ae 1 3R 2

(c) et 2 30 3 (d) ¥=et 3 3t 4

1.0 m S & wihie Hew h g 1000 o
1 T T &1 g B qU1 5@ ¥@ T FEa B, al
lm/sec'ﬂa"TWW% | ST I8 ATHT Ead]
2, @ dex § 58 %1 An @M

(@) 0.5 m/sec (b) 1.0 m/sec

(c) +/2.0 m/sec (d) 2.0 m/sec

wEdl g8 A4 F @ Yo Frafaiaa & sRu
&l 8

(a) STHTGH, TR0 a1 TheT

(b) TIHTUI, FFETEA TUT ST TH

(c) TR, HFETGH TUT TheT

(d) TEROT, ST qUT TG

afe 350 1 I 50 m, TS e F1 IFgH I
5000 m (3MYR &) & a1 ot & firaw # wfafar,
7ea farg ¥ 20 cm @, @ IouAr RIFARR B
gm ?
(a) 2 cm
(c) 0.2 cm
et Y@ @ afe g o a1 g 9% & e
ﬁgmm@aﬁr(offseqmaﬁ?ﬁa’tzﬁm

(& L = G560 956 Y T

(b) 1cm
(d) 0.2m

(Where L = Length of transition curve _ o
R = Radius of the circular curve) i iil L

(@) _6% ®) 52Rr (a) 6R 24R
2 12 _}2_ d) L4

(© sllﬁ M 2R ) &R 24R
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39. Ina survey, A and B are two points. Already
located with respect to A and B, point C is
located by taking two reading and then line
CD is measured. The D is a point on AB. The
line CD is known as
(a) Base line
(b) Check line

. |e) Tie line
(d) Additional line
60. A tunnel should NOT be constructed along
(a) Strike direction
Dip direction
(c) Oblique to the bed altitude
(d) Both along dip and strike direction
61. Refraction error is least in case of
Aa) Stadia tacheometry
(b) Tangential tacheometry
(c) Subtense bar tacheometry
(d) Omnimeters
62. If two triangulation signals of 6.75 m height
each are to be just visible over ground mutually,
what is the maximum distance between their
locations on the ground surface ?
10 km (b) 20 km
(c) 30 km (d) SO km
63. The system that uses the sun as a source
of electromagnetic energy and records the
naturally radiated and reflected energy from
the object is called
Geographical Information System (GIS)
(b) Global Positioning System (GPS)
(c) Passive Remote Sensing (PRS)
(d) Active Remote Sensing (ARS)
64. The ratio of curvature correction to that of
refraction is
(a) 3 (b) 12
(c) 14 a7
65. In a vertical curve, an upgrade of 2.0% is
followed by a downgrade of 2.0%. The rate
of change of grade is 0.05% per 20 m chain.
The length of the vertical curve will be
(a) 800 m (b) 1000 m
(c) 1200 m \,@)1600 m
s e
A oA 0.0 615 @7

99.

60.

01.

62.

63.

64.

65.
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T wE A, A B Q) fag § 1 A 3t B % wmig
8 f& C 2 o o g v @ & il e o
2 a1 CD ! 511 ST R T AB W 0 fam
D2 | ¥@1 CD ! fis I & S e &

(a) 3MYR @1 (Base line)

(b) ST ¥@I (Check line)

(c) < X@1 (Tie line)

(d) Irfefrr Y

Thgu i % el a8 e =
() e 6 fewm &

(b) 797 Y feam o

(c) Tt i F=rd ¥ fodes feun &

(d) 99 a1 Fferers g1 % At fom 4

reda Jfe Feffea & forg wod #a @
(a) wfem ?ﬂwﬁ'ﬁ

(b) TETYE (Tangential) SHIAG!

(c) g™ (Subtense) R éailﬁaﬁf

(d) (Omnimeters)

af2 w3 6.75 m S91 & Q) Fpivfias weha
& woft7 % W & qola: 3@ o @R 8, A A A
TR T I A & Tl Hi sttt g @
(@) 10 km (b) 20 km

(c) 30 km (d) 50 km

ol 3 G ) s g g 9 7
?@ﬁmm%mﬁﬁwﬁ*mm
sfirofad Fft & 30 FE &

(b) 12
(d) 7

T H, T Hed 2.0%3:1%32113@5‘&%@
e aﬁuavmlqﬂaéaﬂawﬁ 20 m

2.0%
;ﬂﬂzm o.os%%,"?':‘7"31'“miﬁ?ﬁmﬂa’ﬁ
(b) 1000 m

00 m
C



66. Repetition of beds on a geological map may
be due to
(a) Unconformity
b¥ Disconformity

(c) Faulting
(d) Folding

67. The velocity distribution in turbulent flow
is a function of the distance ‘y’ measured
from the boundary surface and the friction
velocity p. and follows a
(a) parabolic law
(b) hyperbolic law

_Ac) logarithmic law
(d) linear law

68. While conducting flow measurement using
a rectangular notch, an error of 2% in head
over the notch and error of 3% in the length
was observed. The percentage error in the
computed discharge would be

ey +6% (b) 1%

(c) -2.5% (d) Zero

69. A pipe is said to be equivalent to another if,
in both
(a) Length and discharge are the same
(b) Velocity and diameter are the same
(¢} Discharge and frictional head loss are
the same
(d) Length and diameter are the same

70. A channel designed by Lacey’s theory has
a mean velocity of 1 m/s and silt factor of

unity. The hydraulic mean radius will be
/6525 m (b) 2m

(c) 1m (d) 0.5m

71. The pressure drop per unit length of pipe (AP/L)
in Laminar flow is dependent on the velocity,

viscosity and diameter. It is equal to

& b 32V
g {t‘(a) 32}1\/ ‘de
W v“f <S4 3V 4 8uv
sV (A 4z 0

N " 18-

00.

67.

68.

69.

70.

71
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U A AR WA i el & s El
Tl B
(a) fermfa=rma (Unconformity)

(b) @G (Disconformity)

(c) 31"{?[31 (Faulting)

(d) ®Te81 (Folding)

yeria ware # 3 faawor #m 9= & ard i 26
3R g 471 1, T Uk Y B H AR
FETT HAT 2 |

(a) TEAtys fam

(b) BEwEIfTH fam

(c) TR Faw

(d) Y= fram

U AEATHR @i (notch) 1 FAT F1d g q81@
o FE H, @ % SR A § 2% i 7 aw
T # 3% ot e T ¥ | srfyyefera faws w0

¥ wferera Ffe geft
(a) +6% (b) ~1%
(c) -2.5% (d) I

e I G T 3 e v o & IR A
(a) TS qu fams ©F @

(b) 37 qET =ATE T &

(c) forasta qen adur sid wf o &

(d) TS Fu S U &

S forgia g feomsa fbe T 37 H1 3
3 1 m)s & 30 TG PR T B | EEGRS S
e kil
(a) 2.5m
() T m
v ¥ warg  wgw 1 9k yfie o
;rq(Ap/L);%n,féwﬁ%ﬁﬁm“ﬁ‘ﬁg'

T8 TR B

(b) 2m
(d) 0.5m

@) 32uv yd?
8uV

32uV 8uv
© =35 @ g



72,

73.

76.

77,

78.

- \)9)’0.4

The ratio of pressures between the two ponts
A and B located respectively at depth 0.250m
and 0.75 m below a constant level of watel
In a tank is
(a) 1:2
€)1 :4

by 13
ld' 1:o

A circular plate 1 m in diameter1s sulnnrfﬂ"_d
vertically in water such that its upper edge 18
8 m below the free surface of water. The total
hydrostatic pressure force on one side of the
plate 1s

(a) 6.7 kN
(¢) 45.0 kN

(b) 65.4 kN
(d) 77.0 kN

When there is an increase in the atmospheric

pressure, the water level in a well penetrating

a confined aquifer

(a) decreases

(b) increases

(c) does not undergo any change

(d) decrease or increase depending on the
elevation of the ground

A turbine in which the total energy of water
available is converted to kinetic energy is
called

(a) Axial flow turbine

(b) Reaction turbine

_jey Impulse turbine

(d) Mixed flow turbine

Discharge per unit drawdown at a well is
called

(a) Specific storage dh'l/Speciﬁc yield
(c)Specific capacity (d) None of the above

A stream that provides water to the water
table 1s termed as
(a) Affluent

(b) Influent
" (c) Ephemeral

(d) Effluent

The observed annual runoff from a basin
of area 500 km? is 150 Mm3 ang the
corresponding annual rainfall over the basin
during the same year is 750 mm. What is
the runofl coefficient ?

(a) 0.2 (b) 0.67

(d) 0.5

72,

73

74.

i

76.

Tl

78.

Uk T £t 2 8 e e
' ' m%:ﬁ%ﬁﬁg 5
A a1 B i) pjo i
(a) 1:92

) 1:4

(b) 1:3
d) 1:5

I 'm S ) v MeAE Wz 9 8§ 2

&3 R M b gaa 3h
8 m 1 : mmﬁgmmq

g R

(a) 6.7 kN
(c) 45.0 kN

? |G#tz?$rr4sm§amnzfzmam

(b) 65.4 kN

(d) 77.0 kN

e arpwsetta gara 4 gfg w8, @1 39 i 5w o
U Hifira srerga &) dear 2

(a) TeaT 2

(b) wee 2

(c) @13 wfada =& gran 2

(d) A it T8 F JTER g a1 ge 2

ush g forad areft i Iveren i St wfaw 5=
1 Furia et R, 38 FEd &

(a) A& WEE @IS

(b) wafsen Z@msA

(c) e TEE

(d) fif¥a @' ZTaTEd

s 0 T SR o e e we R

(a) fafre iER (o) Rfrewf@
(o) R g (@) T AR

sifq FErt (water table) ) Fd WER w@ A

i ) HE A 4
(a) HETTF F& (Affluent)

(b) FEICEY (lnﬂucm)
) m (Ephrmcml)
((:l) afx-yard (Effluent)

500 lan? $¥0 :wwsm o s QA W T

mt 39TE sz f
(b) 0.67
(d) 0.5

ygalk 150 MY
mﬁ& ﬂ‘i 75‘\’ m

(a) 0.2
(C) 0.4



79. The theissen weights of 4 rain gauges A, B, C
and D covering a river basin are 0. 15, 0.25,
0.30 and 0.30 respectively. If the average
depth of rainfall for the basin is 5 cm ang
rainfall recorded at B, C and D are 5 cm,
4 cm and 5 cm respectively, what is the
rainfall at A ?
(a) Scm (b) 6 cm
() 7cm (d) 8 cm

80. Water is to be lifted by a net head of 240 m.
Identical pumps each with specific speed of
30 and rotational speed of 1450 rpm with
design discharge 0.2 m3/s are available. The
number of pumps required will be
(a) 2 (b) 3
(c) 4 (d) S

81. For one-dimensional flow without recharge
in an unconfined aquifer between two water
bodies, the steady water table profile is

._~4) a straight line
(b) a parabola
(c) an ellipse
(d) an arc of a circle

82. As per the recommendation of the Bureau
of Indian Standards, the shape of the lined
canal is
(a) Circular
(b) Trapezoidal
(c) Parabolic

Jg} Elliptic

83. Geological strata between ground surface
and water table is also termed as
(a) Piezometric zone (b) Phreatic zone

2y Vadose zone (d) Saturated zone

84. The standard BODjg at 20°C, when compar ed
to BODy, is

(@) 50% (/—u/a%e%
(¢) 75% ‘?((g,,r 100%

85. Sludge bulking can’be controlled by
(@) Chiorination ~_ ) Coagulation

(c) Aeration (d) Denitrification
A -15-

79.

80.

81.

82.

83.

84.

85.
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T T M H FHFA T 499 A9 A, B,
c 3k D %1 @7 32 wAw: 0.15, 0.25, 0.30
3t 0.30 & | IR IRF A 3t a9l 5 om 2 3k
B, C 3R D W gt &l 7§ 991 %A%: 5 cm, 4 cm
FMsecmBIARSS ®NR ?

(@) S cm (b) 6 cm

(c) 7cm (d) 8 cm

240 m Tiaer i v ot 33 s & | Rl 1 30
1 gHE T 1450 rpm 1t 0.2 m3 /s féses Fregron
¥ U Iqere § | YIS T i e Bt

(a) 2 (b) 3
(c) 4 (d 5

3 et Feprl o it U fonia seng i gk %
o1 w rmrd wae % R fRR S DeRe &

(a) T Hidt T

(b) Tk HFII (parabola)

(c) TH a“-ﬁﬁ (ellipse)

(d) 99 1 U 99

W1 W 61 & Hegia & AER &R T&
T AHR BT B

(a) FUTHR

(b) EFfF (Trapezoidal)

CRIEEITE (Parabolic)

(d) Sefgefa (Elliptic)

Y Fag 3k 9w wfe % A9 e ®w R

_ viwmamr |
(a) YT S (b) frufes
(c) ATEHE S (d) ¥ERs I

20°C W WHH BOD $! gel 7 BODy ¥ #
STt R, A B @

(a) 50% (b) 68%
(c) 75% (d) 100%

T TEH (Sludge bulking) B FEIEa
g e fear s g 2

(a) FAITTRTOT (b) T

(c) AT (d) FEIHT
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86.

87.

88.

89.

Uniformity coefficient of filter sand is given by

D I.)v\ll
a 60 —
() D, - D,
D
(c) —Dw (d) =%

10 1Q

Which of the following causes a decrease
demand of water in per capita consumption ?

(a) Use of metering system

(b) Good quality of water

(c) Better standard of living of the people
(d) Hotter climate

The following data pertain to a sewage
sample : ;
Initial DO = 9.5 mg/L;

Final DO = 2 mg/L; Dilution = 1%.
The BOD of the given sample is

(a) 7.5 mg/L (b) 10 mg/L
(c) 75 mg/L (d) 750 mg/L

The tilt in an aerial photograph is radial
from

(a) Nadir point

e Principal point

90.

91.

(c) Isocentric point
(d) Plumb point

The staff reading at a distance of 80 m from
a level with bubble at its centre is 1.52 m
and when it is moved 5 division out of the
centre, the reading is 1.60 m. The angular
value of the bubble is

(a) 20.62" (b) 41.25"
(c) 14.55" (d) 25.5"

In GIS, the process used for modifying map
features to make them clear at g reduced
scale is known as
(a) Cartographic Gcnerahsmiun

Database Generalisation
(c) Topographical Encoding
(d) Data Filtering AT R

86,

87.

88.

89.

90.

91.
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freer T a1 {ﬁ‘mﬁ’ﬁ {]Uliiﬁ (Uniformity
coefficient) g

D, D
(a) =60 =50
) : (b) D,
(c) Do (d) De
10 D

10

ﬁwfaf@afiéfm%wmwhwﬁamﬁﬁm
9 Bft & 2

(a) Hiefon yoreft &1 39am

(b) Tt it 7 i

(c) a1 1 ITW Saq &=

(d) T Serarg
ﬁ%m@m%mﬁm%;
RS DO = 9.5 mg/L;
ﬁﬁﬂDO=2mg/L;ﬁ§H’l=1%l

f@ g T3 +1 BOD 2
(a) 7.5 mg/L (b) 10 mg/L
(c) 75 mg/L (d) 750 mg/L

T UREE W w1 g (tilt) Prefafea @
e (Xfeer) wem @

(a) 3fo fa=g (Nadir point)

(b) 7&4 f&= (Principal point)

(c) qHEgl ﬁ'@ (Isocentric point)

(d) == fa=g (Plumb point)
el o TTY TF FH 80 m N g WRTE 364
s g W 1.52 m # ol @ W@ ¥ A 5 fAvrm
AT 72T S &, @ i 1.60 m R | qEHE w
ity 7 2
(a) 20.62"
(c) 14.55"

(b) 41.25"
(d) 25.5°
e e e & forg wrf

1
et e e 0 7 7

wfgsa &) wed §

() TR :}i}\?«nx@?ﬁ
(b) TeRE FATATEHIA

(c) Zratanfseet gaIfsn
(d) T feeefn
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Engineer measured i
e '::,10 ,’:,i’ations - are 1;: ehdls.tance between | 92 1 cm =50 m ¥ W T A F @ fagat 5
_ : o DSHHE R Gealo o = &1 gfl T SAPWEA I 600 m A | W A
1 cm =501m as 600 m. Later, however, he found f 38 1 cm = 30 m 1 T YT
i i s e b s b o il |
to measure the distance. The true distance fere L ﬁ%
between the locations is i e g
(a) 200 m (b) 250 m (a) 200 m (b) 250 m
(c) 500 m ()" 1000 m (c) 500 m (d) 1000 m
93. Streak of a mineral is 03. TS @iy & 901 @ (Streak) B
(a) Its appearance in‘diff.used light as (a) EH! YA T I &Y faiE T & 9
obtained by rotating it BN W
(b) quour of the pqwder of a coloured (b) T o G ¥ _"’Eﬁ 3 w5 PR W W
mineral as obtained by rubbing it on a 2 TS R T =
porcelain plate - P -
Its appearance in thin section as seen (c) T g (polarising) H& I
under a polarising microscope LRl
(d) None of these (d) 3 &/ IS T
94. A road segment of length 1 km scales | 94. S Fratul SRTTET W 1 lom Y TS T HSH
6 cm on a vertical photograph. The focal 1 A 6 cm AT } | FHU H Flehel TS
length of the camera is 150 mm. If the 150 mm 2 | 3R &% Y gWae &, @ ga1s JEe
terrain is nearly plain, then the flying height 7 323 areht S=18 At
of t250a(i)rcraft will be — (a) 2500 m (b) 25 km
m
d) 250 m
(c) 250 km (d) 250 m (c) 250 km | (d) -
95. If the probable error in single observation is 95. afe fereft e Sreur 1 8‘1@3&10%)4@ i
+0.04 m and that of the mean is+0.01 m, then affa &1 3R +0.01 2, at Newil H wE
the number of observations are () 4 (b) 10
(a) 4 ig; - () 16 (d) 64
\/(;zr 16
i 96. ¥FMA (Tacheometry) H vl -tefia vl 2
i hod of tacheometry 18
% Tansglent;ilt!}:l:rtl sotac;)ia hair method (a) Lfe R (stadia hair) fafa i gen # e
a) Slow . _
:b; Faster than stadia hair method (b) R A (stadia hair) fftr & ge A & R
eferred as it involves less ‘ () 9 i a«ﬁ e & fore ged ww M
computations to get reducedaﬂzlt:zce 2R 3 T T seftrar & o
(d) Preferred as chances O(f‘l 2pe:tadia —_— (d) R AR (stadia hair) faftr it g §
error are less compared 10 Frat=m e H w9 R
method n,g fafu Forad
d for measurement of 97. &fdw @ H A9 a;-.:?; TS e
97. Method adopted theodolite in case Rraieiese 1 I @ §C A ﬁﬂﬁg
horizontal angle VHAC ¢ well distributed fig /g % FE Tl BN TH A I RYA
when several angles © easured from the a9 i
o R ‘i’;&iﬂs (a) el (b) S5 TR
i ts
v(syne ms.ujumen (b) Double angle (o) Feem (d) IR ot
G repeiion ) 20
eiter:
(C) _11_\ #
. e
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98.

99,

Two straights AB and BC have the bearing
of 70° and 1207, respectively. They are to be

connected by a circular curve. The deflection
angle will be
Aa) 130°

(b) 70°
(c) 50°

(d) 120°
The following boundary condition exists at
the wall (y = 0)in a boundary layer
(a)u=U

dP
b) — = -
(b) ax - Ve

(C) TO= 0

dd)u=0,v=0

100.

A hydraulic ram works on the

JA Principle of centrifugal action

101.

102.

103.

(b') Principle of water hammer

(c) Principle of reciprocating action
(d) None of the above

Uniform flow in an open channel exists, when
the flow is steady and the channel is
(a) Prismatic
(b) Non-prismatic and depth of flow is
constant along the channel
rismatic and depth of flow is constant
along the channel
(d) Frictionless

For a hydraulically efficient rectangular
channel section, the ratio of width to normal
depth is

(a) 0.5 (b) 1.0

() 23 \‘;WQ'O

As the depth of immersion of a vertical plane
surface increases, the location of centre of
pressure

(a) Moves apart from the centre of gravity of

the area ‘
Comes closer to the centre of gravity of

the area '
(c) Coincide with the centre of gravity of the

area
(d) Remains unaffected

T

98.

99.

100.

101.

102.

103.
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21 7 AB 741 BC 1 f29am 00 70° 747 1,
2 | 3% uF g aF 3W I I 2, A iy
F10 71 ZAM 7

(a) 130°
(c) 507

(b) 70°

(d) 120°

Freafafea im zm v dm g9z 4 daw (L -
T o 2

faju=U

‘h) g =-ve HE):I:QE)

(c) 1p=0

(du=0,v=0

UF Za91eM 5% (hvdraulic ram) S8 F44 2
(a) FTF=1 F14 = f5g4

(b) 9 7dre1 =1 fagm

(c) eIt 12 =1 fagm

(d) 390 & 7 =¥ 7E

U G [ § ZH%E var 7 deg 2 & 9w
yare fe 2 2 i 39 A 2

(a) firseirm

(b) M-Fr=ig 3i vare & et 4w F @y
=

(c) Br*fia 3ik v i mEwd 7 ¥ aw fRn i
(d) F¥vREa

@mﬁammm%m%fm
et 3R A TEE & I 2

(@) 0.5 (b) 1.0
(c) 2V3 (d) 2.0

& FETR T F HHead (3FOH) i = 39
33 9edl 2 ga F 5 3 28

(a) &7 oA F3 A Q EA R

(b) &3 % e 7 % T I 8

(© &7 ¥ e g W R B R
(d) e 7 B & "
L
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104. Hydraulic jump occurs when
(a) Flow is super critical
(b) Flow is sub critical
(¢) Flow is super critical and downstream
depth is adequate
(d) None of the above

105. In a model experiment with weir, if the

dimensions of the model weir are reduced by
a factor K, the flow rate through the model
weir is the following fraction of the flow rate
through prototype

K5/

() 1

(b) K2
(d) K2

106. In differential manometer used in a

venturimeter along a water pipeline, if an
error of 2 mm has been made in observing
a differential head of 10 mm, the percentage
error in pressure difference is

(@) 12.6 (b) 25.2

) 20 (d) 10

107. Two identical pipes of length L, diameter D
and friction factor f, are connected in parallel
between two points. The length of a single
pipe of diameter D and the same friction
factor f, equivalent to the above pair is

(@) 2L o) %
o 75 Y4

108. With rise in pressure, the bulk modulus of
liquid
(a) Remains constant
(c) Decreases

Increases
(d) None of the above

109. The highest velocity for flow of water of
viscosity 0.02 Poise to be laminar in a
10 mm pipe is
(a) 100 cm/s
(c) 300 cm/s

(b) 200 cm/s

/(ﬂr400 cm/s

110. When an irrigation canal is taken over a

drainage channel the crossin
(b) a super passage
(d) none of the above

(,} V4

g is called

an aqueduct

(c) a level crossing

e\

A :) cuL
M

‘ A
X {Aj ;

104.

10S.

106.

107.

108.

109.

110.
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T 31 39T (Hydraulic jump) 7 211 & &
(a) sETE Hfaswifaes 2

(b) TS IsHiToh

(c) T&Ta Srfowifeeh auT SEvaTE TEUS wat 2
(d) 3T & / IS T

T % Wy © aiew W ¥, 9R wiew % AW
B TF FH K ¥ T 91 2, @ wieet R &
e § wg ot WEIeRY % HIeAy @ yaiE W
e 3w R

(a) K5/2 (b) K2

(c) 1 (d) K2

T % gYeTEd o T SAgiiet % IR GO 3R
A & Rie g R AR F IR R
T 2 AR 10 mm 3R 2€ H @A F 2 mm A
IR & 2, df qara si # wfowa 3 2

(a) 12.6 (b) 25.2

(c) 20 (d) 10

21 T T UTEY R ST L, S D T ey
Tﬁ%ﬁf%,z\ﬁgaﬁ%ﬁamﬁaﬁm%
IR A F qod, Th Uy Fi w2 e
=@ D a1 §9H =0 T f 8

(@) V2L b Y
© 7 @ Y%

ZaTa % 9 & T, 53 F °F A (bulk
modulus)

(a) h WHH AR (b) Wew R
(c) BT (d) I & § FIE T

0.02 Poise ¥ T Tt THI 1 9EE Tl 1@
%mmﬁmaﬂ 10 mm Y & e
aull

(a) 100 cm/s
(c) 300 cm/s

F T R TR T A $ SR Y A
3 o 59 s H FEd 8

(b) 200 cm/s
(d) 400 cm/s

() TH TFASTH (b) TH gm ¥

(c) T A IR (d) I o § B T
- a- S ,}//' Lz e
—LJ/ B o) 2~ avned noest



Ly

111.

Ja'1.32 m

112,

113.

n
¢
Lacey’s scour depth for a stream, carrying a
discharge of 3 cumecs per meter width and
having a silt factor 1.2 is

(b) 2.64 m

(d) 4.32m

The discharge passing over an ogee spillway,
per unit length of its apex line is proportional
to (Where H is head over the apex of its crest)
(a) H (b) H?

(c) B/ (@) B

Lysimeter is an instrument used to measure
(a) evaporation

(b) infiltration

(c) 3.96 m

_{c) evapotranspiration

114.

115.

116.

(d) transpiration

The relation between duty D in

hectares/cumec, depth of water A in meter
and base period B in days is given by

1.98B 8.64 B

D \/er: D

5.68 B 8.64 D
D

(@) A=

(c) A=

(d) A=

The use of unit hydrographs for estimating
floods is generally limited to catchments of
size less than

5000 Km?
(c) 10 Km?

(b) 500 Km?
(d) 5000 ha

According to Khosla, to keep the structure
safe against piping, exit gradient to be
provided lies between

(a) 0.10 and 0.15 by 0.15 and 0.20

(c) 0.20 and 0.26 (d) 0.25 and 0.30

117. Lateral infiltration is the major drawback in

118.

the following type of infiltrometer as
Simple tube (b) Double ru_1g
(c) Sprinkling type (d) Rainfall simulator

111.

112.

113.

114.

115.

116.

117

Isolated storm is represented in a hydrograph | 118.
wit’
Single peak
(b) Multiple peak
(c) Complex peak
(d) Without single peak
-20-
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Q%Wﬁlﬂﬁﬁéﬂ?ScumecsHﬁlﬁaw
e

3R free ok 1.2 2, % foe ot i e
(scour depth)@“ﬂ

(@) 1.32 m (b) 2.64 m

(c) 3.96 m (d) 4.32m

T @TEA 6l i 3T e A v S e %
I F T 91 forart safes @ o= Hiwd
2 & i & Fw)

(a) H (b) HZ2

(c) B (d) H”

fordfifier v sumwr 2 formen 3gam

A9 & fou faam stran 2 |

(a) aTsdieRTor

(b) 37d:¥Ie

(c) TSI Iedsi

(d) S

FEHH (59¢1) D (FFR vl i o) a1 9t H
@éA(Mﬁ)aﬁIWmB(ﬁ?ﬁ)%iﬁi

g9 gufemmmg
Bha=1220 (b) A:S'(:;B
(© A=5.68B ) A=8.64D

A F IFIAH A A wvet gregins &1 3wdm
yra: Frafafied § @ w9 sren o & (i)
& fore fomam wan 2

(a) 5000 Km? (b) 500 Km?2

(c) 10° Km? (d) 5000 ha

WG % FHR H=HT 1 9T & g @ % R
e Mz o % e Sueren wmm s 8 7

(@) 0.103M0.15  (b) 0.15 3¥ 0.20

(c) 0203 0.26  (d) 0.25 3 0.30

urgd iawed fr sReegnfie § wrw w9 @ gy

TR T R .
(a) foraet =@ (b) s=a fm
(c) Trgaa faf (d) =uf fmgetet

o qFF H1 T TGS § Gt S @
(a) et i g/

(b) Fediae dis TR
(c)aﬁmmﬁm

(d) e Fére i g




19.

20.

[21.

¥

122.

123.

124.

125.

The deficiency of soil moisture through the
earth surface is termed as

(a) Rainfall

(¢) Infiltration

(b) Runoff
(d) Water table

In a CBR test, the load sustained by a
remoulded soil specimen at 5 mm penetration
is 120 Kg. The CBR value of the soil will be
(a) 9.2% (b) 7.3%

(c) 5.84% \9)/ 2.4%

The type of transition curve that is generally
provided on hill road is

(a) Circular

_(by Cubic parabola

{e) Lemniscate

(d) Spiral

It is a common practice to design a

highway to accommodate the traffic volume
corresponding to

(a) Peak hour

(b) 15 min. peak period
_ley 30t hour

(d) Average Daily Traffic

The safe speed on transition curve of B.G.
track can be calculated by using formula

(@) 4.35VR-67
(b) 4.4JR-70
}0) 3.65JR-6

(d) None of the above

The maximum limit of super elevation on
B.G. track in India is

(5)-76.2 mm (b) 83.2 mm
(c) 101.6 mm (d) 165.1 mm

As per Indian Roaq Qongress'(lRC}
recommendation, minimum radius o
horizontal curve on urban roa.ds in plal‘n
terrain when the design gpeed 18069 Km/h
and super elevation is limited to 7% 1s

120 m (b) 1256 m
(c) 130 m (d) 135m

119,

120.

121.

122.

123.

124.

ENGT - 04
et ) wor A ger ot H Fh A -
1.3 B
‘H) mﬂ (b, mm
(c) Ty (d) ameT-aw

Uk d .. glier d, v w9 7Y e g g
5mm333l‘~ﬂmﬁ$1ﬂ§3ﬂw 120 Kg 2 | 91
&t ) aft 3w, 1w A

(@) 9.2% (b) 7.3%

(c) 5.84% (d) 2.4%

TR gew W yE: o wER @ g aw
(transition curve) f&an 9mar 2 g 2
(a) gHTERR (Circular)
(b) B9 W& (Cubic parabola)
(c) SffrEhe (Lemniscate)
(d) Feeht (Spiral)
FaEE B A R e % e e
AftereaHl AR 3N B
(a) ¥H 9HY
(b) 15 firme = arafy
(c) 30 & e
(d) s FraraTa w1 3fwa
T 1 3TN 0 LA, 3F & HhA T
gl i < o S a2
(a) 4.35JR-67
(b) 4.4VR-70
(c) 3.65VR-6
(d) Iwt & | I3 TE
Ty B.G. w9 g % RI¢ AR (super
elevation) #1 atftrean Hw1 Frefafea #
(a) 76.2 mm (b) 83.2 mm
(c) 101.6 mm (d) 165.1 mm

.y g% HE (IRC) ) wgfay & HTHR FHIeA

i 7 el aftarfeud <t 60 Km /h R 391 wrgieam
(super elevation) 7% & wfta & wed Tg® §

Afast @ & =an e gt
(a) 120 m (b) 125 m
(c) 130 m (d) 135 m



